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BLUE GREEMN WHITE RED PURPLE SKY ORANGE
CLA4 Harrow a4 Harrow CLA4 Harrow A4 Harrow CLA4 Harrow a4 Harrow CLA4 Harrow QA4 Harrow
HRW- Avyleard Pri| BAT- Dollis Junior | BRE- 5t Jogephs |WES- Qur Lady of KAC- HGY- Rhodes | EMF- St Andrew's
=ch Sch RC Junior School Dolours Chriztchurch Avenue PriSch Enfield
Girlz Bovs Girls Bovs Girlz Bovs Girls Bovs Girlz Bovs Girls Bovs Girlz Bovs Girls Boys
Obstacle Relay 8 5 14 14 & 8 4 4 10 12 12 10
1+ 1 Lap Relay 4 10 14 14 a 4 i G 10 a 12 12
2+ 2 Lap Relay i 4 10 14 a G 4 a 12 10 14 12
6 Lap Paarlauf 8 10 12 14 4 10 5 14 12 5 8
Cwer [ Under Relay 5 5 14 14 10 12 4 5 12 10 8 8
4 x 1 Lap Relay 4 10 14 14 10 5 5 4 8 8 12 12
Chest Push 2 12 14 14 10 4 4 G 12 a i 10
Speed Bounce 10 g 14 14 6 10 4 4 12 & 8 14
Standing Long Jump 5 8 14 14 8 12 4 4 10 10 12 5
Standing Triple Jump 8 10 14 14 & 5 4 4 12 8 10 12
Vertical Jump 12 a 14 14 a 12 i G 10 4 4 10
Soft Javelin g 10 14 14 6 4 10 5 4 g 12 12
Total 2a 102 162 168 a0 A4 65 B4 126 104 118 126
Combined Total 190 330 174 130 230 242
Combined Position 4 1 5 5 3 2
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